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THREE YEAR B.Sc. (CBCS) DEGREE EXAMINATION, NOVEMBER 2016
FIRST SEMESTER
- Part Il - Mathematics - 1

DIFFERENTIAL EQUATIONS
Time : 3 Hours ' Max. Marks : 75
' PART - A

Do - o

Answer any FIVE questions.

Each question carries 5 marks.

IDT° 0B (50O DATFRD0e FEPosvB.
98 5% 5 Dty en.

‘(Marks:5x 5 mérks = 25 marks)

1. Solve: (1+e"/y)dx+e",/y(1—£]dy=0.
Y
(1 +e? )dx +et” (1 = ﬁde =0 0 JFowodw.
Y

xdy — ydk =

2

0.
2+

2. Solve: xdx + ydy +

xdy — ydx

x% + y?

xdx + ydy + 0 20 ;QoBoBw.

3. Solve : p> -5p+6=0.

p2—5p+6=0 2 AHoBodw.

4. Solve: p=log(px-y).

p =log(px — y) R0 >Fododw.

dzy dy 2
5. Solve: —+4—+3y—e**.
5 dx? dx =

2 .
%Jr 4Z—y+ 3y — e 30 FBoBH/W.
& o X

[P.T.O]



6.  Solve : (D2 - 4)y =gin2x

(D2 - 4)y = 8in 2x N GooD.

7. Solve: (D2—3D+2)y=2x2.

(D? -3D+2) y = 22* %0 2B

8. Solve: (D2 -2D + l)y = x2e%* .

(D? —2D +1) y = x%% % 2-Bos.

9. Solve (D2 + azly =tanax by the method of variation of parameters.
(D + 0y = tan ax % Sooosve By 556 o Boisaw.

2 3 .

10. Solve : x* ZT%, ~2x(1 + x)%;- +2(1+x)y = x.

2
x? % - 2x(1 - x)% +2(1+x)y = x° 20 Qowodw.
PART-B

dgrfo - D

Answer ONE questions from each Unit.

Each question carries 10 marks.

(98 AI°RE5 008 & (K AT EPofvH0.
B8 5850 10 dretioyen.

(Marks : 5 x 10 marks = 50 marks)
UNIT -1

11. Solve : %+(2xtan"1y—x3)(l+y2): 0.

% + (2xtan‘1 y —_xa)(l + y2)= 0 R0 dBodod.

Or
12. Solve: y(xy % 2x2y2)dx +x(xy - x%y*)dy =0.
y(xy - 2x2y2)dx + x(xy — x%y*)dy = 0 20 BoHodn. -
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13.

14.

15.

16.

17.

18.

19.

20.

UNIT - 11

Find the orthogonal trajectories of the family of coaxial circles x* + y* + 2gx + ¢ =0, where g

is parameter.

g So°0d x% + y% + 2gx + ¢ = 0 &I 0D Y BB BoE),; 002 HoPETOB EAH0H.

=0
Solve : y + px = p*x*.
¥+ px = pZx* H0 dHovoBN.
UNIT - IIT
Solve : (D2 -3D+ 2)y =coshx. |
(D? 3D + 2)y = cosh x %> GBS
Or

Solve : (D2 < 4)y = W RS S

(D2 = 4)y = e* + s8in 2x + cos? x O FBoBOIW.
UNIT -1V

Solve : (D2 + 2)y = x%e% +e" cos2x.

(D2 + 2}y = x2e%* + €* c0s2x DO FBoWBW.

Or

Solve : (D4 +2D% + l)y =x%cosx.

(D4 +2D% % l)y = x2 cosx 0 FBoBOIW.
UNIT-V .
Solve : (x*D? + 2x3Dr2 -x’D+x)y=1.
(x*D® +2x°D* - x’D + x)y =1 @v@oéo:m.-
Or
Solve : [(1 +x? )D2 +(1+x)D+ l]y = 4cos[iog(1 +x)].

[(1 +x° )Dz +(1+x)D+ l] y = 4cosflog(1 + x)] Ko AGoBoSs0.
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